KTM

BOS SCREW-ON ROUND

Pos Qty Description Part No. Order number
1 1 Muffler aluminium right 299635 0500195A - Alu
2 1 Muffler aluminium left 299636
Weight
Mounting kit : 280152 Original: 9.8 kg
3 1 Mounting bracket right 227051 Bos: 4.6 kg
4 1 Mounting bracket left 227052
5 6 Bolt M8X20 408102 Noiselevel @ 4250 RPM
6 6 Washer M8 408003 Original: specified  92.0 dB(A)
7 2 Bolt M8X35 408030 measured 92.0 dB(A)
8 4 Wide Washer M8X30 408010 Bos: Ec appr.  92.0 dB(A)
9 2 Spacer for vibration rubber 284002 open 94.8 dB(A)
10 2 Wide Washer M8X24 408062
11 2 Lock nut M8 408018 Performance
12 4 Bolt M8X16 408078 Bos: 96.8 Hp / 7351 rpm

Stock: 93.5 Hp / 7623 rpm
Max Hp incr.:+ 6.7 Hp / 6516.5 rpm
Max Nm incr.:+ 8.8 Nm / 4126 rpm

Tips
110- 143 As you can see on the dyno there
1000- -0 is a big powerincrease: + 8,8 Nm
900~ 00 and 6.7 Hp without any

ano-

adjustments to the bike. Easy
screw/on mounting

More information like photos and
T a full color dyno graph can be

=00 found on: www.bos-exhausts.com

=200

T00-

B0.0-

s00-

Wheel Power (Hp)

400-

[Wp}=s0-anbio] aufug

ano-

200-

100- =100

0o- 1 1 1 1 I I 1 1 I_D o
1000 2000 3000 4000 5000 G000 7ooa G000 000 10000
Revalutions (rpm)




